Problem1:
If $3p+4q=8$ and $4p+3q=13$, what is $q$ equal to? (Total Points 5)

Rubric: q=-1(5); others(0)

Answer: q=-1(5)

Problem 2
Evaluate $i^6+i^{16}+i^{-26}$. (Total Points 5)

Rubric: i^6=-1(1); i^{16}=1(1); i^{-26}=-1(1)

Answer: -1(5)

Problem3: The lengths of the three sides of a triangle are $7$, $x+4$ and $2x+1$.  The perimeter of the triangle is 36.  What is the length of the longest side of the triangle?

Rubric: 7+x+4+2x+1=36 or 3x+12=36 or 3x=24 or x=8 (3)
        x+4=12 2x+1=17 (5)
Answer: 17

Problem4: Let $f(x)$ be an even function, and let $g(x)$ be an odd function.  Is $f(x) g(x)$ even, odd, or neither? "odd\", \"even\", or \"neither\". (total Points 5)

Rubric: f(-x)g(-x)=-f(x)g(x) (4); odd (1)

Answer: odd




